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_ . (D) Dehydration
s from plant cells causes plant to:-

(B} Swell (C) Wilt (D) Rupture
of plants fall under the category of:-
(B) Tactic (C) Turgor (D) Tropic

e acetic acid o its varients.
(B) Gibberellins (C) Cytokinins (D) Ethene

(B) LH (C) Estrogen (D) Progesterone
Mmﬁngufmmm month of pregnancy, the human embryo is referred to as the:-

(B) Placenta {C) Neonate (D) Young one
free area that appears at the time of fertilization is called:-

(B) Yolk (C) Gray crescent (D) White cytoplasm
'pﬂrtwhlch uneoils, during inter phase is called:-

(B) Heterochromatin (C) Chromatids (D) Satellite DNA
ration of chromosomes 15 called:-

(B) Separation (C) Non-disjunction (D) Metastasis
¢ lens cells remain in ____ stage for life time.
(C) G



re mgr. (C)Fourthstage (D) Last stage
sis at the depth of:-

iﬂjﬁm’fut (C) 1000 feet (D) 1200 feet
~ (B) Industrial machines (C) Air conditioners and refrigerators (D) Aeroplanes
ne Oxide is produced in:-
| (B) Boxy fish (C)Marine fish (D) Cartilaginous fish

ice of dehydration is:-
 fe (B) Osmoregulators (C) Anhydrobiosis (D) Dehydration
of water due to ex-osmosis from plant cells causes plant to:-

: (B) Swell (C) Wilt (D) Rupture
 movements of plants fall under the category ofi-
A {B) Tactic (C) Turgor (D) Tropic
dole acetic acid or its varients.
(B) Gibberellins (C) Cytokinins (D) Ethene
is induced by:-
(B)LH (C) Estrogen (D) Progesterone
inning of the third month of pregriancy, the human embryo is referred to as the:-
(B) Placenta (C) Neonate (D) Young one
ea that appears at the time of fertilization is called:-
.:':B} 'ﬁ;m (r:} Gray crescent (D) White cytoplasm

(D) Satellite DNA



appears at the time of fertilization is called:-

~ (B)Yolk (C) Gray crescent (D) White cytoplasm

hich uncoils, during inter phase is called:-

: (B) Heterochromatin (C) Chromatids (D) Satellite DNA
 of chromosomes is called:-

{B) Separation (C) Non-disjunction (D) Metastasis
and eye lens cells remainin ____ siage for life time.
(B) G: (C) Ga (D)5
e form of appearance of a trait.
-8 (B) Phenotype (C) Pleiotropy (D) Epistasis
h Huntington’s disease have a unigue site where a restriction enzyme cuts:-
(B) RNA {C) Lipids (D) Proteins
%;uppcr layer of atmosphere that filters:-
on (B) UV radiation  (C) f radiation (D) 7 -radiation

stage in xerosere is the:-

age {B) Third stage {C) Fourth stage (D) Last stage
is left to power photosynthesis at the depth of:-

e (B) 600 feet (C) 1000 feet (D) 1200 feet

(B) Industrial machines (C) Air conditioners and refrigerators (D) Aeroplanes
xide is produced in:-
(C) Marine fish (D) Cartilaginous fish

woregulators  (C) Anhydrobiosis (D) Dehydration



_ (B) Gibberellins ~ (C) Cytokinins (D) Ethene

(B) LH (C) Estrogen (D) Progesterone
ng of the third month of pregnancy, the human embryo is referred to as the:-
(B) Placenta (C) Neonate (D)) Young one
nent free area that appears at the time of fertilization is called:-
(B) Yolk (C) Gray crescent (D) White cytoplasm

I part which uncoils, during inter phase is called:-
(B) Heterochromatin  (C) Chromatids (D) Satellite DNA

{B) Separation (C) Non-disjunction (D) Metastasis
HHEHM eye lens cells remain in _ stage for life time.
(B) G2 (C) Gy (D) S

{C) Pleiotropy (D) Epistasis
vﬂﬁlHlmnngton s disease have a unique site where a restriction enzyme cuts:-
(B) RNA (C) Lipids (D) Proteins
ﬂm‘uppuﬂnyu of atmosphere that filters:-
(B) UV radiation (C) # radiation (D) y-radiation

in xerosere is the:-
fB}‘I‘huﬂsmgn (C) Fourth stage (D) Last stage
. “m‘! luf-



t any Six parts.
rentiate between Heterochromatin and Euchromatin.
s formula of Cytosine.
‘Chromosomal theory of Inheritance?
F.Iutkwnmplme Dominance?
~ What is XO — XX mechanism of sex determination?
W!Hhs Haemophilia? Name its types.
What are Biotic components of an ecosystem?
it is Mycorrhiza?

ate between Micronutrients and Macronutrents.
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